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Calculate the empirical formula of the following:
() 15.8% carbon and 84.2% sulfur
(B) 43.6% phosphorus and 56.4% oxygen

(C) 287% K 1.5% H, 22.8% P, and 47.0% O
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A man has died, presumably from arsenic poisoning. Arsenic levels in the man's
blood are much higher than normal. The man's wife is the prime suspect. Police
obtain a warrant to search the home and find an old box of rat poison known to
contain diarsenic trioxide, As;Os. However, it is alse ki that the man worked in a
glass production factory, where he may have been accidentally exposed to diarsenic
pentoxide, As:Os A medical examiner collects some of the unknown arsenic
compound from the man’s tissue and sends it to you to analyze. You find that the
compound is 65.193% arsenic and 34.807% oxygen.

(A) What is the empirical formula of the arsenic compound found in the man's
tissue?

(B) Was the poisoning accidental...or was it murder?




